English
Today we will be planning our non-chronological report about Katherine Johnson.
The three sub-headings will be:
1. Katherine’s Early Life
2. Katherine’s Career
3. Katherine’s greatest achievements
Use the work you have done so far this week to help you plan your writing.
Remember, a plan in written in note form.
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Maths – Recognise Notes
https://vimeo.com/556118433
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History
Why weren’t more people saved from the Titanic.
Use your own research, along with what you have learnt in class to stick these statements into the categories (made up, not very important, important and most important) as to why more people were not saved.
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Phonics
Practise the tricky words on your bookmark.
Write a sentence that includes a word using the ‘oo’ digraph (stood).
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Reading
Please try to read your book every day.
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@ Match the note to its value. © Here are some notes.
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@ Here are some notes. Q © Write <, > or = to compare the amounts.
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Complete the sentences. . £) 20 pounds O m

There are £5 notes. .
9 m 10 pounds
There are £10 notes.
° Kim has some money.
There are £20 notes.

I have a 30 pound note.
There are £50 notes.

@ Which note has the smaller value?

o E

Do you agree with Kim?

Talk about your answer.
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© They could not make
radio contact with other
ships who might have
helped.

© There weren't
enough lifeboats.

© People didn’t know
how to swim in those
days.

@ The rich people
pushed the poor people
back into the water
because there wasn’t
enough space on the
lifeboats.

© The water was
freezing, much colder
than usual.

@ There weren't
enough lifejackets for
everyone.

@ People didn’t leave
the ship because they
were frightened.

© The ship sank too
quickly before people
had time to get off.

© People refused to
believe that the Titanic
could sink and left it too
late before trying to get
off.

© People felt it would be
warmer if they stayed on
the ship.





